Resuelve estas ecuaciones: r
) 2, 4) 3-2% _y -2:) 3-(x-\{x-1) X 3) 5-3(x+2) 4 {9) XL _a 5) 3-X _ % _ _,
"*ltr 1)(x—2) X A T X _'Z y IR i K—"&"L X-1

2) - = l-x

[ S3ar2) 3 D2k =X | 3-(x-)(x-2)= f-x)-X 5-3%=6 . 3 x-1z 2(x34)[ B-xx-2)  felxed) -208a-2)

0l bzbx 3- (x*-2x-x+42)z x- -3 xq 3L }E;:QHL Kaz)(x-2) (e2)(e-2) (@2)(x-2)

5) 22-20 =2 Kz % S-xlelx4x -2z x - X ’:’ =3 =X (3-R)(x-1)- Qg-l\(m-i\- ~2 (x+2)(x-7)
Xz A Lx= - ~Gx-2= 3% pme - etk 2z -2 (X ‘4)

- A= ‘l;; =Lz "X Ly -G6-Yr2¥- X - 2x+ X422 —2x% 8
k= : Y%=AL = k=it 2 x= 2



